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PEWH M1 INSTRUCTIONS
0. Q9 @gﬁgﬂ@q‘?@? ARl A2 9Q | 1. Read the instructions carefully.
: 5 & a = = 2. The admission to the examination is provisional.
7 OQJQIZHQQ %Ia@ Aeke (agio1) | 2@ Gm@qﬁgamﬁlm In the event of any information furnished by the
el Jadl @A AR €AY P2 @m, el @l candidate found false / in-correct / incomplete
< = < = or illegible detected at any stage, the
Qs gellsio 35\']’ 6e6@ gle’”? fIae 62IRde | candidature shall be rejected.
qN. JdAIY 6@l diR gGQﬂ 09 ¢] glgg1@|@ g@ LeeR 2“61@ | 3. Please brlng the admlt Card and the
QIR R6R 2SN I6R I9IG ATATR Gog | acknowledgement card for admission to the
o I B examination and produce the same as and when
¥. Qdge I66q Faides Quddsa feq gd @gde required.
@Qg | 4, Please put your full signature in the descriptive
3. 6.9 2IQ. T ! gag oFl A9l AIReFR IR roll-sheetin prgsence Fthhe invigilator.

. 5. Darken the circles in the OMR Sheets
a9e QAR %Y Q6T @Rl / R Qg | completely with  Blue / Black ball point
PR 6QIR AR FHIGG 6110Q16Q OYRNIER RS | pen only .

5. @ gqae 931 eaa ediasl %59 soling @IF | 6. \é\r/él\;%e%our Roll No. correctly in the space
6899 QMFl 6 6AQAN MG16 UM 6@l6d @28 ANV 7 Do not open this Booklet until instructed.
g Qoeg Fug QI | 8. Do not take any other materials to the
¢. R6RIEYITR 9816 Qal - FIRNGEATR, YIRIQAR, examlna_t|on ha_lll other than pen and pencil -
- ~ 9. Electronic devices such as calculators, Slide
6ClIQIRM 6T, MG 66'gm, @ISR AWML a1l Cleg rulers, cell phones, log tables, camera etc. not
a9l 638 | to be taken to the examination hall.
¢0. @ gaRIea ABe QA Ei N9° ggaeyl eq aieea| 10-  Please check the No. of printed pages,
. o L Questions Serial No. and in case of any
AIf QAP | 99 @2 Q6 2N 606 dIF F1RG WOER discrepancy, exchange the same within five
2l 9P6R 2R R 3R BAIFRFOIQ FIF G2 | aIg ?A?eurtgisneznd thereafter no complaint shall be
0e a6 6@l AI0Q ged @alde aIe | 11.  No candidate shall be permitted to leave the
¢ ¢. 6xled aqiRlellg aeIQl 64918 629l qé@ aqIsl g2 21§ examination hall until the examination is over.
& a BonGacd 12.  Discipline must be maintained in the examination
dRIgq Qe @UIKRIQ | . L
ﬁ g ug N hall as per the Odisha conduct of Examination
R 9. Bedl 4V dRIRRI ARR, R CT T UPUICR IV GLEQ Act 1988.
S5el a8alg 629 | 13.  The candidature is liable for rejection in the
¢ ~ . SRR event of any infringement of the instructions
RN, QIR FLF A FER, F121Q AN @ADL | mentioned above.
Y. QIBIR 648 90 G56 criea almleiclee edleieag [ 14.  The candidates are not allowed to go to toilet
~ - during the last twenty minutes of the
dIQdIQEQRNL | examination.
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dig Q@18 G Sigl
CHILD DEVELOPMENT AND PEDAGOGY

gd6oua g4ga SI6QIT AqIy e J2IKIeg | 629ee Aiq 0g 2aedg QI8 OMR ¢4
QIS QTG ARl / 9P AR INE IR A A°YH QR AR R |
Each question has four possible / probable answers. Choose the correct answer

from among them and darken the appropriate circle completely in the OMR Sheet
with Blue / Black ball point pen.

1. 391 9619819 919 UL QIR AR @ AR 99 ?
(A) QUGG RIFQ ALQYE Q6T (B) <QIFR gOdl Qe @9F
(C) QIR 8 52 I8 A8 AT (D) dqleig 922l 98a SRI8 Q6T
How is the teacher benefitted by the study of Educational Psychology ?
(A) Increases his content knowledge
(B) Getssocial status
(C) Develops judgement and thinking power

(D) Develops the power to understand the educand

2. Q909 g9 QIelg @LIand ?
(A) 699 99 9@ F0a J96 Q64 g 6Q
(B) 699 g4 9@ 5aa 399G AT K6Q
(C) 692 gge Alg 6aIg Faa QaQ alig
(D) 699 g4 QRIS F38 Q626 AIY R6a
What s called an objective type of question ?
(A) Question which measures a specific objective of learning
(B) Question which measures specific topic
(C) Question which has only one specific answer

(D) Question which measures more than one objectives of learning

3. 6§41 gerlide Fe6g (U108 699 JaISE IRRIR FRIAIREIN ?
(A) Q91 ALY (B) RGNS AUDEI
(C) QUILLIAR AV (D) QISR ANIVE
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SET-A
Which test is mainly used for class promotion ?
(A) Achievementtest (B) Aptitude test
(C) Application test (D) Oraltest

4,  @9IYE RBRHIQ Q61908 2SR ?
A) {48 (B) &Gqeaie
(C) QlRee (D) Jealex
Who classified instructional objectives ?
(A) Bloom (B) Guilford
(C) Galton (D) Piaget
5. @64 S99 Q46 980 9¢ 920 @@ 6918 6441a JRId10IeE QU6Q @9 e AR A
@06286R 64, Y6RIATR FRQQ JIS FQ0! QR | el g9 gLoR 699 635qug 9LI9R ?
(A) 63l (B) Qg1
(C) QRLIe UEUITS! (D) <9G9Q|

A teacher conducted a mathematics test with ten items and applied it on the pupils of the
same class at different times and found that marks scroed by each pupil remain almost
constant. What does this indicate about the characteristic of the test ?

(A)  Validity (B) Reliability
(C) Usability (D) Objectivity

6. QIRE J98 LDI6R F6¢)IB 69RCF FARS FAUAIRAN ?
(A) JQAR AL (B) d9IQIe QYA
(C) QUQee J98 AR (D) dQE AERY
Which of the following is regulated in mastery learning ?
(A) Teachingtime (B) Teaching content

(C) Minimum level of learning (D) Ohbjectives of learning

7. JQQ19 A06R FRULIRAS IV 62Q IRIQ JRIIALR ?
(A) QORNAR (B) QeIdgee
(C) yegie (D) 6aQIRa
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The test conducted at the time of teaching belongs to what type of evaluation ?
(A) Formative (B) Summative

(C) Placement (D) Diagnostic

@68 dga 9aYIE 100 8 AIede @9 6 @F 626R J40G 699 69416Q Q17 6RIARI OF 629 ?
(A) g glade (B) i SQl6 6@

(C) 9gas 6941 (D) @919 6941

The I. Q. of a child is 100 and his mental age is 6 years. To which class should the child be
admitted ?

(A) Pre-primary (B) Child-care centre

(C) Class-one (D) Class-two

66T QAR1TR g0 P68 P AR @R ATAR Ga AR JORA gRId ARl | 2l 5679 6RReP
golag ?

(A) -G RIER FIRDNY (B) QQ192-909Q Q10

(C) LIQ BIAY (D) QU6QIB AIQ 6RIGITT g6

An individual responded to a particualr stimulus differently at different times. To which of
the following does it indicate ?

(A) Inter-individual difference (B) Time-stimulus difference

(C) Intra-personal difference (D) None ofthe above

66T g9 692 63TR QA6 FlIY RARI 7168 9Le AR, 9T GI2l 692 Q8R4 A
@R, 6369 G2l g9Q 694 JdIg JOIRAN ?

(A) SRQEIYS! (B) <gRaa!
(C) 63el (D) LI AUCLITO!

If a question measures the same objective of learning for which it is constructed, then it
indicates which characteristic of the test ?

(A) Reliability (B) Objectivity
(C) \Validity (D) Usability
Q& 6 AR9Q 629 2SI ST G GIeRl A4l (period of stress and strain) @RI ?

(A) QUi (B) g2 Qg
(C) 6@6dIUA! (D) ediglegl
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What stage of growth and development is called as the ‘period of stress and strain’ ?
(A) Childhood (B) Late-childhood
(C) Adolescence (D) Adulthood

12. JgQ 69100 ARQI6 08 FI6RIT ATYIA 6@ A0S 62RAN - 12 AVER @4 AV DR ?

(A) 28Q (B) Jalew
(C) 6alerad (D) @QQe
The intellectual development of a child takes place mainly in four stages — who propounded
this theory ?
(A) Skinner (B) Piaget
(C) Kohlberg (D) Rickson
13. 964 294 JFR 5671 6RRE ATCA JQQ 699 ALV ?
(A) @6Q4-0@a AR (B) QIdY-Q@e IR
(C) dqIe1-6a89 dgIle (D) QUEAIB ANY
Which of the following should an ideal teacher emphasize ?
(A) Objective-based teaching (B) Activity-based teaching
(C) Pupil-centred teaching (D) Allof the above

14. QIRRI9P-AINE g4 96 Fa62 699 |aE O] ?
(A) VY AR — JAE AR dQ R — Jg @Al 996 — 9gQ 0K
(B) Q@99 09 — g9 9QQl g6 — 94 Q6ad FQ @Al — 99 990
(C) 99§ @9l 996 — F98 @629y o @Rl — 99 99 — 9§ 990
(D) <94 694 da 28Ql — 99 @l 926 — 99 FI0R — g4 F6434l
Which order is correct in the preparation of a standardised test ?

(A) Selection of topic — Identification of objectives — Blue print preparation — Writing the
guestions

(B) Selection of topic — Blue print preparation — Identification of objectives — Writing the
guestions

(C) Preparation of Blue print — Identification of objectives — Selection of topic — Writing
the questions

(D) Identification of objectives — Blue print preparation — Writing the questions —
Analysis of questions
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(SET-A)
15. gIafie SIRaAea SRINIAIRER ATAFIRG! AGUIS FF63 600 JHIGs NALIQ FAILIRAN ?

(A) 60]Q fd (B) QINIQIRRQ
(C) 605 6am (D) 9998
Which of the followings is mainly used to study the punctuality of the pupils at the primary
schools ?
(A) Check-list (B) Interview
(C) Rating scale (D) Questionnaire

16. QUB-ZUYR IR F6¢ID 609 924 A°ge QUL ?

(A) QAT A2 D (B) C6QI8E A2 AU

(C) Q20T 92 A9 (D) QU6QI? AL

Which of the following data is collected for individual case-study ?

(A) Relation with friends (B) Relation with neighbours
(C) Relation with classmates (D) All of the above

17. 394 609 9FAIg QLI ?

(A) 2IoRdee dfeae gasl (B) g4I9e SQls g@al

(C) UL gae gaul (D) QU6 AAY

Which of the following Process indicates learning ?

(A) Process of behavioural changes (B) Process of qualitative development
(C) Process of practice (D) All of the above

18. 494 68Q6Q AREYQSIQ Y @& ?
(A) UGG RVIGH1 @GR! (B) UIOQ€Ig RS @<l
(C) oGP AGA 28 (D) @U6QIe ANY
What is the role of motivation in learning ?
(A) Itmakes the behaviour goal directed (B) Itmakes the behaviour systematic

(C) Iltactivates the learners behaviour (D) Allof the above

19. @64 9@ RIFQ NARIQ @'¢l 6QIR AT ASIAER | F68 BIF 0o Q 8G JgeAlAAR
PLINR ALILAS 6N | 2| RIQR & JRIQ 93 gaal ?

(A) 692919211 (B) 6@QIQgsH
(C) &9a@e (D) Qeea
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Ateacher asked the students about the uses of paper. A child gave 10 to 15 examples of
the practical use of paper. This indicates what type of thought process ?

(A) Divergent (B) Convergent
(C) Controlled (D) Imaginary

20. G99 AT RIQ 6RAG IR IR YR Q6L ?
(A) SRNY 9@ IRRMIT gR (B) <IQIGe CRagel 2@ Fald
(C) QU8 IR Qe AQANSICR 26T (D) QRIS NP-6RQR 26T
Which one of the following statement is not applicable for development ?
(A) Developmentis a life long process
(B) Physical maturity is development
(C) Developmentis qualitative as well as quantitative

(D) Developmentis individual centred

21. 2RgAe dgldRIes d91 Aa6e @ aesad Q2Id /B ?

(A) Qo1 654192 (B) Qoa Io¥Qe

(C) 9oq d9IQIe J986 (D) QU6UR AT

What step should be taken for education of under achievers ?

(A) Separate class-room (B) Separate curriculum
(C) Special teaching method (D) Allof the above

22. “Hitthe Iron when it is hot” — 92| 6QQ 88 F9¢ AAER TIAS ?

(A) dgLo Fad (B) Ugdiae Gad

(C) IR (D) @96l FAIQ 6x18AT @62
“Hit the Iron when it is hot” — on which law of learning is it based ?

(A) Law of Readiness (B) Law of Exercise

(C) Law of Effect (D) None of the above

23. d819Ie a8 98Q 6@w Fa6 O] ?
(A) QAT — NIHHFRE — FORI? ANV — FRIILS
(B) 9@ — QUAR — JIRIQ AN — JRUIALR
(C) YORI? ANV — FARIRRE — §OF RIF AR — AR
(D) QAT — o9 RIQ 9RIF — FJAIAS — KRS
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Which sequence is correct from the point of view of teaching method ?
(A) Presentation of the topic — Explanation — Testing of previous knowledge — Evaluation
(B) Presentation of the topic — Introduction — Testing of previous knowledge — Evalution

(C) Testing of previous knowledge — Presentation of the topic — Presentation of new
knowledge — Evaluation

(D) Presentation of the topic — Presentation of new knowledge — Evaluation — Explanation

24. 9oRIQIe FARIeaa 69180 S8 3762 JIQ @8 KAl RS ?
(A) SRIANRR g4 IIRAEL (B) 6@QIUQIQ1 527 IR 6T 6961
(C) Q6gINAR B GeFIAR g4 9916 (D) AU6UB AN
What should a teacher do for the intellectual development of gifted pupils ?
(A) Askinquisitive questions
(B) Opportunity for divergent thinking
(C) Askanalytical and application type of questions

(D) Allof the above

25. QORISR FRUIGR G168 6REER IR KUY FIR ?
(A) g2 @by (B) 6Q&° 6am
(C) d998 (D) K ANV
Which of the following is not used in formative evaluation ?
(A) Homework (B) Rating scale
(C) Questionnaire (D) Unittest

26. QAIEAR GNP NI

(A)  d1e1 G 0ed (B) &894 220QI9R 29
(C) <98 RAQYH 99 (D) @U6QIP ANY

In an activity based teaching

(A) learnersremain active (B) learning becomes pleasant

(C) learning becomes purposeful (D) Allof the above
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-_SET —A
Qa6 @ 9F TIFI REQI AN RF AL ARIVE JILE FRAUR ?
(A) Q6@ 6 ARAQ (B) Q6@ 6 0lQ
(C) <QlQ B 6aR (D) Q6@ 86N
Who for the first time prepared two parallel tests for the measurement of intelligence ?
(A) Binetand Simon (B) Binetand Terman
(C) Terman and Merril (D) Binetand Merril

AIRTE FIQ 620G T4 (projected) 87 Q6L ?

(A) QRQ (B) o959

(C) <lean 98! (D) daed
Which one of the following is not a projected aid ?

(A) Map (B) Film

(C) Flannel Board (D) Still picture

Q6418 ABAINT FRIQ 6906 JQI21-6aae J8l A AR IS 62 ?

(A) d9121a J94 Q6! AN AVER JRQ PUIIRI

(B) 49@ d94-QA2i9a SAIQ6Q QU @RS

(C) JNIRAER 991810 VFE 06Q JQQ aAIR2N

(D) dgIERIeea ANFR SRIE AR FRQ 2RI

Which one of the following statements is not applicable for child-centred education ?
(A) Importance is given on achieving learning skills by the pupils

(B) Teacher works as facilitator of learning

(C) Importance is given on the presence of the pupil in the class-room

(D) Importance is given on allround development of the pupil

& ole §9¢ 0g AAAAL AR 691N FQUF 69 AV FEIER ?

(A) JY (B) adeIaQ

(C) 28 (D) 6x2nQ
Who experimented with a cat to establish his learning theory ?
(A) Pavlov (B) Thorndike
(C) Skinner (D) Konhler
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